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GENERAL STUDIES (PAPER-I)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.

All questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be stated clearly on the cover
of this Question-cum-Answer (QCA) Booklet in the space provided. No marks will be given for answers written in a
medium other than the authorized one.

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question Nos. 11 to 20 should be in 250
words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be clearly struck off.



10.

TEUT I AT o foRIY TEAT T =l HITSTY) (I 150 TTea1 H TST)
Discuss the salient features of the Harappan architecture. (Answer in 150 words)

10
IR o UTTHR FH-ERIAT o S et T FIeo hif) (I 150 wreal # g1iS)

Examine the main aspects of Akbar's religious syncretism. (Answer in 150 words)

10
TfTRRT = <ae AT T i STa hl SATIHAT I TEhaR A § W1 e’ w9 HifSg) (3T 150 et # i)

'"The sculptors filled the Chandella artform with resilient vigor and breadth of life. Elucidate. (Answer in 150
words)

10
STetaTy aitEd 3R | TR gig % 50 30 o STfdcd st 8 TTfod o TE 22 JeTeR0 o |y == i) (W
150 31sa1 7 2ifw)

How are climate change and the sea level rise affecting the very existence of many island nations ? Discuss with
examples. (Answer in 150 words)

10
T grerferen icfortert € 2 A nidfaert yrd J siicrss forivaret 9 forer SRR Heiftrd 2 2 393w 3Tl
Y == hIfSTT) (ST 150 reat 7 i)

What are non-farm primary activities ? How are these activities related to physiographic features in India ?
Discuss with suitable examples. (Answer in 150 words)

10
3UGH IR o A1, HRA H ER He11 Ica1e o qrifeerfersh 31T S1ffes ATl ol Herw H samear shifsry (I 150 Ireat
4 dif)

Explain briefly the ecological and economic benefits of solar energy generation in India with suitable examples.
(Answer in 150 words)

10
AT AT &2 o ST HET ST @ 2 Ieh TROTH AT 87 IS Hfed THEATS) (I 150 Ieat & Ef0)

What are Tsunamis ? How and where are they formed ? What are their consequences ? Explain with examples.
(Answer in 150 words)

10
R & TS e, e TRl ST ToreoTienten =1 o TE( bl ol Hallferd sl & 2 (I 150 T | i)

How does smart city in India, address the issues of urban poverty and distributive justice ? (Answer in 150 words)

10
IR | Tofaet ST 1 ArRER SATedTReRar 37 TSATE! =T o RIS 1 Jdieh ¢ - T shifsTu| (W 150 et |
difsm)

The ethos of civil service in India stand for the combination of professionalism with nationalistic consciousness
- Elucidate. (Answer in 150 words)

10
T HATTeRT THTAT & T SFTRT0T 3BT RO Sharet STShTHER STHITHT HEhid &1 & 2 370 IaL ol ¥ ST (ITW 150 Frear
4 diferg)

Do you think that globalization results in only an aggressive consumer culture ? Justify your answer. (Answer in
150 words)
10
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HETCHT SIS Pl o HHIST e’ AT 3 e o TSt o ot et Suferd derehi ohl aaeanstl sl 937 2l ==i
T (I 250 3121 H i)

Mahatma Jotirao Phule's writings and efforts of social reforms touched issues of almost all subaltern classes.
Discuss. (Answer in 250 words)

15
TS, 31 ere, TRTer ST AR qvedi o forwar § STTSiel o GREWeh et § WRA o Yga ol hl ST sh
ifera ) (I 250 TreaT H Aifm)

Trace India's consolidation process during early phase of independence in terms of polity, economy, education
and international relations. (Answer in 250 words)

15
et farg o Tor shidiet shifea st fiae arefirerar 81 woe hifste) (3T 250 vrsei 4 difsm)

The French Revolution has enduring relevance to the contemporary world. Explain. (Answer in 250 words)

15
for o STadia dat Her o forawor a1 siRTiforeh Tasientor i) o dead ot Heri & fordt et =T § 2 (IT 250 wTeat
4 dif)

Give a geographical explanation of the distribution of off-shore oil reserves of the world. How are they different
from the on-shore occurrences of oil reserves ? (Answer in 250 words)

15
TR STR &5 ATSHT ST 1 ST 3T, T, ST STR.TH. Tohw1ohi o BT o JlahdT (T,.3T1S.) 3G o1 Jrell S d
IUART KT TRAT ST Tehall © 2 (I 250 a1 H €ifTw)

How can Artificial Intelligence (AI) and drones be effectively used along with GIS and RS techniques in
locational and areal planning ? (Answer in 250 words)

15
T SHITSTT foh TE o WRTET TR HETHIRI ST o SRR 3T AT (TT3ST) H, ShEeel S| shl ok T el oh
ST, TR 8 B 21 (ST 250 Ieat # fifw)

Discuss how the changes in shape and sizes of continents and ocean basins of the planet take place due to tectonic
movements of the crustal masses. (Answer in 250 words)

15
W, Tiet S STt wemert o foreTe wiad o |y 7T et Sife H St foror S sed o == i) (3T 250 Tt
4 diferg)

Discuss the distribution and density of population in the Ganga River Basin with special reference to land, soil
and water resources. (Answer in 250 words)

15
AT GHIS | ETeey Haielt fofaTd s/ o STas[e, B % I g @ 8- 36! i 3E@d © ? IRA 39 8
7Y T T IETEL0T <o TIF IS (3T 250 I1eet 7 fsro)

How do you account for the growing fast food industries given that there are increased health concerns in modern
society ? Illustrate your answer with the Indian experience. (Answer in 250 words)
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19. TATSROT HTEOT X SR < G HAd forehre STHe ST, M S 9%1 § T QT ol Sl o |19 THTd § 317 Tkl © -
feoquft AR (3T 250 wreat 7 Eifr)
Achieving sustainable growth with emphasis on environmental protection could come into conflict with poor
people's needs in a country like India - Comment. (Answer in 250 words)
15
20. T MR | ST forehre a1 g, foreermd 7 et o $3-71a hisd 22 3T o ek shifsy) (3T 250 wreal §
difsm)
Does tribal development in India centre around two axes, those of displacement and of rehabilitation ? Give your

opinion. (Answer in 250 words)

15



